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\HDF 1 TH 135 142 277 148
ILLDF2TH 250 281 531 252
Wil 1TH 84 108 192 110
L2 T H 497 485 982 478
o BT 1 T B 260 308 568 278
o BT 2 T B 225 198 423 204
TEET 1 TH 148 142 290 149
FTEE2TH 232 235 467 223
FTEE3TH 299 311 610 274
R 1TH 139 183 322 168
R 2TH 156 199 355 208
FEET1T TH 232 254 486 264
FEET2TH 193 214 407 181
RLiEX1TH 354 395 749 390
RiEX2TH 165 194 359 193
KX 3TH 307 303 610 262
RLiExX4TH 219 208 427 200
AHE 1 TH 620 653 1,273 617
AHE 2 TH 330 369 699 299
<L 1TH 320 298 618 328
X<IL2TH 344 322 6606 356
*<IL3TH 399 463 862 458
ZR1TH 596 684 1,280 615
EZR2TH 819 718 1,597 712
ZR 3 TH 923 925 1,848 822
&1 TH 325 308 633 290
& 2 T H 890 897 1,787 786
& 3T H 979 972 1,951 922
x&B 4 TH 163 167 330 163
x&B 5 TH 60 60 120 40
= W H 601 569 1,170 539
2LtR1TH 157 768 1,525 763
21rtR27TH 143 147 290 117
=521 TH 598 676 1,274 584
=52 2 TH 250 245 495 284
m &a B 1,482 1,519 3,001 1,287
I\ =t 14, 494 14, 980 29,474 13,964




[EHEMX]

% 5 ’f %
m H B 1, 605 1, 654 3,259 1,479
T 5 97 108 205 77
yis H 94 97 191 07
fid] 25 21 46 17
5 R 169 166 335 142
F H KW 98 94 192 69
= Mt 290 213 563 195
m % R 489 480 969 352
&R =] 170 185 355 136
DR H 262 231 493 204
Z & R 153 128 281 107
I\ ) 627 585 1,212 501
it £ R 472 487 959 475
m T X 456 430 886 355
+ =B R 352 322 674 329
B R 207 204 411 146
722 I 209 2117 426 155
B = 194 207 401 154
iy %8 14 12 26 11
i K M1 A 111 171 282 175
1\ =t 6, 094 0,072 12, 166 5, 146
[ ]
% R ’f %
7] 578 562 1, 140 456
S EX 615 061 1,276 597
2] R 115 115 230 87
2] fid] 112 108 220 81
1t 206 202 408 153
F HBAH 401 418 819 282
% B B 147 150 297 105
1\ 5 2,174 2,216 4,390 1,761
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+Fr &5 L 3917 411 802 356
T & <t 048 651 1,299 629
5 = 1, 456 1, 441 2,897 1,235
M R T T2 149 46
]I 1T H 159 160 319 139
]I 2T H 272 271 543 240
1\ 5 3,003 3,006 6, 009 2, 645
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= A W 499 557 1,056 429
i R 115 108 223 86
A pit 128 117 245 103
i [R 273 246 519 215
I\ ) 1,015 1,028 2,043 833
(382 1]
% 5 éf %
o [R 221 210 431 157
I\ m B 09 55 124 51
- S-S 481 480 961 399
® B L 402 382 784 311
z I 275 24?2 517 226
z H 359 330 689 260
ey =l 47 40 87 38
F K/ H 108 106 214 85
I\ =t 1,962 1, 845 3, 807 1,527
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2 P H A 213 281 554 243
B H 356 336 692 289
R =z AN 160 146 306 138
it ¥ L 296 24?2 538 237
N\ 15 111 142 253 120
it ) 141 135 276 103
F H 146 140 286 104
2 8 137 113 250 102
X B 26 20 46 20
1\ 5 1, 646 1, 555 3,201 1, 356
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2 P @ B 564 618 1,182 487
X =2 H 255 272 527 244
R %8 140 162 302 112
L -2l 214 202 416 155
2 KX R 269 277 546 204
= H 401 381 782 308
I\ =t 1, 843 1,912 3,755 1,510
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m 5 A 208 213 421 154
A R 162 160 322 122
o] il 83 77 160 65
3F ] 50 47 97 39
X £ = 53 46 99 38
X A & 56 44 100 45
A B X 76 147 223 122
A L 134 116 250 100
I H 67 60 127 66
1\ B 889 910 1,799 751
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I 231 226 457 202
A B 242 247 489 238
E £ F 53 50 103 47
] I 16 15 31 19
& 5 69 66 135 57
I\ 5 611 604 1,215 563
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33, 731 34,128 67, 859 30, 056




